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Ynpoctutu uspase:
a) x°:x*
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6) (x°)
B) x°-x°
r) x°:x°
n) x%:x
h) x°:x
e) x°- x
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Wspauynaj:

a) 5-(-5) -5

6) 5(-5):(s")

B) 3—(-3) -3

r) 3*.(-3)":3°
3pauyHaj BpeIHOCT H3pasa
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W3pauyHaj BpeIHOCT H3pa3a

a) (_2)10 8235 2"
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W3pauyHaj BpeJHOCT U3pa3a

a) (2°) +(3) -5

0 5 -(2) ()
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11.

12.

p) (22) —(-3°) +5°

0 (3) -(-2*) -5

N3pauyHaj BpeAHOCT M3pasa
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W3pauyHaj BpeHOCT U3pasza

o ()L
e 28 8 (=2)
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N3pauyHaj OpojeBHY BPEAHOCT AaTUX U3pa3a 3a x=-—1

a) 3x° —4x+5

0) —4x’ —3x>+4x+5

B) 2x'—4x’ —3x" +4x+5

313
W3pauyHaj OpojeBHY BpEeAHOCT H3pas3a > 3aa=—1,b=2.
Sa+b
. : > 4+2b°
N3pauynaj OpojeBHY BpEIHOCT U3pa3a 3a”+2b° aa=1,b=-2

5a*b



13. 3aa=-2, b=3, c=-4 wuspadyHaj OpojeBHY BPEIHOCT H3pa3a:

a) a'-b'+¢’

0) 3a’—2b+4c’

B) la3—2b3 +lc4
2 3 4

r) (4a+3b+ c)4

14. H3zpauyHaj OpojeBHY BPEAHOCT H3pa3a :

x*+2x-1 1
a) —— 338 X=——;
x—1 2
3 2
0) %—Fz 3a x=-2;
x —
3
B) Z 38 x=—;

15. MW3pauynaj OpojeBHY BpeIHOCT H3pas3a ako je x=5, y=0 un z=-2.

a) 2-(x—y3zz);
0) 2-(x—y3)-22;
B) 2-(x—y32)2

r) 2-()c—y)3-z2



